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MATHEMATICS LEVEL nc TEST-Continued 

IS. If cos t = ~. what is the value of cos 2t ? 

(A) 0.92 
(8) 0.39 
(C) 0.28 
(D) 0.15 
(E) -0.83 

16. Which of the fong is ro of f(x) = 2x2 - 3x - 1 ? 

(A) -1.00 
(8) 0.28 
(C) 0.50 
(D) 1.78 
(E) 3.56 

17. What is the number of digits in the number obtained by 
multiplying 1::121.212 by 3,579? 

(A) 4 
(8) 9 
(C) IO 
(D) II 
(E) I2 

USE THIS SPACE FOR SCRATCHWORK. 
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What is the number of digits in the number obtained by multiplying 12,121,212 by 3,579 ?

























 




